21

2.2

11-15

2-6

-8

9-10

16-17
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)
130
()
6 823
4 377
2 16 1230
2N - 40 4 35,38
- 60 % )
0 % 230
4 39
1% 56,9
3 23
5 3
7 54
57 138
97 208
/ 16 123
I . 169
1 08
e = 1285, =172, 58
) 130
823 4285 56,9

438



(=1%0)

4,000
4001 -8,000
8,001 - 12,000
16,001 -20,000

20,000

4001 -8,000
417

3.1

36
46

14
19'
19

24
43
20
14
18

62

12

48
6

207
354
31
108
8.5
146

185
331
154
108
138

411
15
9.2

36.9
46

354

58
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ad

86.2

708

66
64

92
38

99
3

112
18

16.2

(=130

508
49.2

108
29.2

16.2
238

86.2
138

59

508



185

100

38

13

185
38
38
6.2

100

24

60



192

1.1

192
08
08
1.1

61



2.1

(x= 55.83)

1

571.38, 45.17

57.38
45.77
3.1

12,3
%71
(=57.38)

12.86
18.13
20.29

Range

14.00-100.00
1.00-98.17
5.00-103.00

62

(=1%)

Skewness

462
308
1.057

(x= 34.74)
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2.2

(13

X X X X X
255 226 295 1428 2368 1333 1870 1267 1840 1149
2802 704 1423 990 1213 818 1007 657 970 572
68 613 1011 6% 1000 82 615 645 6l 632

57138 1286 5083 2380 4645 2380 3503 2165 3471 2029

123 1
57.38 155.83, 46.45, 35.03 3471

123 1
22.95,29.56, 23.68, 1871 1840

12,3 1 28.02,1423, 1213, 1017 9.0

123 1 6.8 110.11, 1001, 6.15
6.11



Repeated Measures ANOVA) ( = 130)

df
(within) 129
(Between) 4
(error) 516
649
*P <0001
9
1 2 3

0001

638.013
213676
639.442

1551.131

MS
4,946
68.475
1.186

14,795

64

(One Way

51.716

<0001*



*

1511

65

10
5 Post hoc comparisons ( = 130)
1 2 3 4 5
1 2 3
(382) (3.722) (3.09) (2.335) (2.282)
(382) TI0% 1490% 1511
1(3722) : : 667* 1,387 1.408*
2 (3.09) : : : T20% ik
P<.05
10
() Post Hoc Comparisons 8
Post Hoc Comparisons
05 8
1 2
110
2 3
1490
3,
4 1 2
667
5 1 3
1.387
6. 1
1408
1 2 3
120
8. 2

J41



il

(X=219)

4169
2.191

66

(=13

2.5109
69

X 4169)



12
(= 130)

X
11 302 128
12 295 127
13
284 132
14 208 135
15 212 137
16
207 14
17 18 123
18 185 127
19 185 1l
1.10 179 123
111 165 112
219 069
12 '
X = 302)
X = 295)

(X= 165)



(X= 189

13

13

(= 130)

(X= 16)

1.34
1.34
1.89
122
201
1.62

(X =2.00)

37122
o187

1.09

4883

111
0.9

68



11
12
13
14
15
16
17
18
19
1.10
111
112
113
114
115
1.16
117
118
119
1.20
121
1.22
123
1.24
1.25

14

(= 130)

X SD.
1.88 131
167 0.42
162 0.80
161 128
1.9 0.92
1.95 0.83
152 0.77
151 1.28
143 0.84
1.46 0.79
142 0.75
141 0.1
135 0.62
1.34 0.68
1.28 0.76
1.28 0.66
1.28 0.56
1.25 0.57
1.20 0.39
124 0.61
107 0.36
107 031
107 0.28
107 0.36

1.03

0.17

69



4 )

21
2.2
2.3
24
2.5
2.6
2.1
2.8
2.9
2.10
211
2.12

11
1.2
1.3
4
1.5

14

X= 189) X = 167)
(X=109

170
1.65
151
146
144
140
139
1.36
132
112
1.09
1.09
1.89
162
162

128
1.26
122
120
1.20
1.06
187
123

0.98
091
0.90
0.80
0.74
0.82
0.75
081
0.73
051
0.53
0.34
1.09
0.95
0.95

0.64
0.60
0.66
0.66
0.55
1.00
1.00
0.36

70



X = 170)
(X= 165 (X= 109)

(Pearson Product Moment Correlation Coefficient) 14



(Correlation Matrix)

1

" 1,000
24+

067
233

083

114

- 136

058

Pr<.05(2-tailed) PP < 01 (2-tailed)

2

24
1.000
060
ATz
017
- 034
- 366
-099

067

060
1,000

125
#1973
-153

-038
= L

05(r =184

4 5
233+ 083
AT2+ 017
125 -197*

1.000 -015
-015 1.000
079 127
-168 166
-092 160
05 (1 =.494)

6
114
034

-153

079
127
1.000
091

A

1 8
-136 058
-3 -099
-038 -219*
-168 -092
166 160
091 494+
1.000 184*
184 1.000
05 (r=-219



73

16 (R)
(R2) (R2change)

R R2 R2change F P-value
A4 244 244 41301 000

+p<(0h

16
| 244 (R2= 240)
244 (R2=
244)



17
(Beta)
SBb
4411 695
Constant 28.194 3373
+p< (5
17
1
494

Y1= 28.194+4.471

2 1= A%*7

74

Beta t P-value
494 6.434 000
8.360 000
(Beta) = .494
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